1) Tn the number 78.9 what digit (number) is in the tenths place?

2) Inthe number 78.9, what digit {number) is in the ones place?
3) Inthe number 78.9, what digit (number) is in the tens place?
4} Inthe number 6174903, what digit is in the thousands place?
5) In the number 6174.903, what digit is in the thousandths place?
6} In the number 6174.903, what digit is in the hundredths place?
73 Inthe number 6174.903, what digit is in the tenths place?

8) In the number 6174.903, what digit is in the ones place?

9) In the number 6174.903, what digit is in the tens place?

10) In the number 6174.903, what digit is in the hundreds place?

Exercise 2

Directions: fronslate the following numbers from English into decimal numbers
Twenty-nine

Eighty-one hundredths

Nine thousand thirty-four and'seven tenths

Ore and four thousandths

One hundred and sixty-two thousandths
Forty-five hundredths

Four thousand three hundred twenty-one ten-thousandths
Ore hundred twenty and five tenths

Seventeen thousandths

One and seven tenths
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Add. Use decimal models.

1. 246 + 1.13 2. 2.05 + 1.87
3. 291 + 18 4. 1.34 + 115
5. 0.51 + 0.63 6. 1.74 + 036
7. 2.05 4+ 1.12 8. 2.93 + 274

9. The length of a nickel is 2.1 centimeters. What is the length of
twao nickels laying side by side?



Study the example problem showing how to subtract
decimals. Then solve problems 1-5.

Charhie coliected 3.8 pounds of shells atthe beach, Sebal
collected 1585 pounds of shells, How many more pounds
cid Charlie collect than Sebal?

To solve, subltract 1.55 from 3.8, Use a place-value chart o
heldp, Regroup as necded 10 subtract.

anes . terithis sundredhhs
Lharie's sheds 1 . 3 ¢
Sebary shoks & 4

Aones « 1 o0 = 7 ones

7renthy — Sronthy = 2 tenths

10 hundredths ~ S hundredths = § hundredgths
Difference = 2 ones 4 2 tenths < 5 hundredths

Charhie collected 2.25 pounds more than Sebal.

-~ Explain why you have 10 use regrouping in the
example problem?

U ¥You an also sublract dearnals by writing the problem 4 %};
i al ‘ bar od ; o boerines gk o 288
vertically, ning up the dedinal ponts 1o keep track of i 55

¥ T = 1.0
the place vakues. e

The problem to the rightss partially completed.

How goes the regrouping shown relate 1o the
place~value method used i the example!?




frankhn §s_;$oms;’{ﬁr3 fromy the pature oy
o e atuuli sen he hiked 248 Kilometors 1o the
brsdge. Finally, iz:c bukesd 3.35 kdometers 1o retum ta

s

i

the nature center, How many kdomueters did Frankhes
Pk in all?

Show your work.

Safubion:

Dharma and Jorge are looking at (ol phote plans, A
group plan sl cost an average of 513595 ';,e‘ rzﬁum?’
An indeadual planwall costan average of $7.2.75 por
smenth, Should Dharma and Jorge purchiase a gtoup
olan or tao ndradual plans? How much money could
they save?

Show your work.

Solbon:




On the floor exerdise, Madia scored 9385 Mary Lou
scored 8975, Howe much higher was Nadia's score on

the floor exercive?

Shoaw your work.

Solution:

o Jeremy has three ;}emiég One pencil is 9.36 inches
long. The second pendit is 6.7 m%ws long. The third
pencil is 8.025 inches long. Will placing the pendils end

1o end make a total length greater than 2 feet?

Show your work.

Safution:

f‘:i S r G ny inches
are there in & feets

© Teni walked 3.825 miles yesterday, Today she walked
5.5 miles. How many raore miles did Terri walk today
than yesterday?

B 1675 miles € 1.785miles
B 1725 miles 0 2.325 miles

Which number is the

greater number?

Brenda chose 8 as the correct answer. How did she get that answer?




¢ e comtined gt of
the Dackpacks o
. i e
than 8.5 pound P Trge L Faise
L [ -
o thae dralse
g, | d
. R - S I
L pound heavier than Frandds, 11 True 1| False
which of e equals 24277 Select all that apph

- Kristin weighs three kittens at a vet’s dinic. The
heaviest one weighs 3.28 pounds. The heaviest kitten
is 1.056 pounds heavier than the medium-weght one.
The lightest kitten is 1.2 pounds ghter than the
medium-weight kitten What is the tolal weight of the
kittens?

Show yvour work.
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Tim tracked the change in outswde
temperature one afternoon. He recorded
a temperature of 85.47F at noon. Tho
temperature then rose 3.85F over the
rioxt 4 hours, At 5:00 v, Tim recorded

a temperature of 89.25°F Howe did the
temperature change between 4:00 0y
and 500 ma?

A The temperature incoeased 08°F
£ The temperature decreased 0.2°F
£ The temperature increased 1R

D There 15 no change in femperature,

N O3 § oa -

@ 1885 — 42 871 = 155484
— I
i =
H 1 Lk
[N R £ kg s T ERERLY

The sum of three deamal numbaors is 6.
fractly one of the numbers is fess than 1.
What could those numbers be?

Show your work.

Auswer
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Piay 120 One-step multiplying and dividing equations . -

Solye the eauation. Cheok your solufion
: ' . ) 1 3
1. 160 = 60 2. 1.2 = 33y 3. —d = —
8 5
d , - 5 .
4o - = -33 5 18 = ~~1~“h 8. —724g =17.014
1.2 . it

in Fxercises 7 and 8, write an equation. Then solva.

o

3 .
7.1f a project is handed in late, you receive 3 of your earned points. You
received 72 points on your late project. How many points did you lose?

8. There are 92 students in a room. They are separated into 18 groups. How
many students are in each group? How many students are not in a
group?

9.A bus token costs $1.75.

a. You spend $15.75 on tokens. Write and solve an equation to find
how many tokens you purchase.

b. If you purchase 10 tokens, you get 2 free tokens. Write and solve an
equation to find the approximate reduced price of each token.

¢. You also receive free tokens if you purchase 20 tokens. The reduced
price for each token is $1.40. Write and solve an equation to find
how many free tokens you receive.

10. Solve l|Z] = 2.
3

Day 13: Solving two-step equations

Solve the equation. Check your solution

1.3k -2 =10 2. Sp+2=-10 3. —4x+3 =11
4.12 = 2d +32 5. —1—5h = 14 6. 1257 —7 =25
5 2 1, 9

7.4k +3.6 =738 8.




1) i_'_;p ;"'3’___'_ R T ) Sx—Tx=2

10 5
3) -9+6c+10-10c=-43 4) 6{c+5) =25
5) 3(k-5)=-16 6) ~2(m + 1) = 10-

Day 15: Solving two-step equations.

- Solve the equation. Check your solution.

1. 5k ~8 = 7 2. 6b+9 =-15 3. 32w-2=-45
4. 13 -2n = 27 5. 25 =457+12 6. 5.255 —2.01 = -8.94
7. Tc—2¢ =45 8.:73(5~y):_76 9. -2(1+c)+4c=-9

Day 16: Write and solve two-step equations

Solve the equation. Check your solution.

11,23 a3l ? 3L 3
4" 77 7 g 2 3
4.14d — 2d = —84 5. 5¢ — 13g = 54 6. —3(¢ - 8) =

In Exercises 7 - 10, write an equation. Then solve.

7. Ethan planted a tree that is 37.5 inches tall. If the tree grows 3 inches each
year, how long will it take for the tree to reach a height of 54 inches?

8. A music download service charges a flat fee each month and $0.99 per
download. The total cost for downloading 27 songs this month is $42.72.
How much is the flat fee?

9. Kayla’s age is 3 less than twice her brother’s age. Kayla is 13 years old. How
old is her brother?

10. Mario spent $23.85 at the bookstore on one book and some magazines.
The book cost $12.60 and the magazines cost $2.25 each. How many
magazines did Mario buy?




i:}awf 17\ertean& :;oi‘\/e't\}vo—'stepfequaﬁbﬁs and review bféxbfessions.

- __Find the sum or difference. e T

vy -(r-2)

(Gp-7) (50— 6)

R

,(2h 1)+ 20k - 4) , (b =9) - 3(8 - 28)

Eactor out the coefficient of the variatls,

) 1 .
Gx — 36 4. —k 4+ 15

5

Sobie the squation. Check vour solulion.

P
et

-5 X+

f &
=
[\

x =9 5. —=5(m+4) = 27 7. —12a —2) = =50

In Exercises 8-10, weite an equation. Then solve.

3. You purchased 5.132.49 worth of wheels and bearings for your skateboards.
The shop charges $15 per board to install them. The total cost is
$192.49. How many skateboards will be repaired?

9.The perimeter of a triangle is 60 feet. One leg is 12 feet long. Of the two
unknown sides, one of them is twice as long as the other. Find the
lengths of the two unknown sides.

10.Sally picks seashells by the seashore. She lost 17 of them on her way home.
She planned to fill 5 jars with the same amount of seashells in each. How
many seashells did Sally pick?

a. You do not have enough information to solve this problem. The
number of seashells in each jar is the same as the number portion of
her street address, which is a 2-digit number. The first digit is 5. The
last digit is 9 less than 3 times the first digit. How many seashells did
Sally plan to put in each jar?

b. By working backwards, determine how many seashells Sally picked.

¢. The 5 jars that Sally chose would not each hold that many seashells.
In her search for a 6th jar, she discovered a few seashells in her
pocket. What are possible values for the number of seashells in each
of the 6 jars and the number of seashells discovered in her pocket,
such that there are no seashells left over?
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Solve the problems.

them up 60%. Write two expressions that represent the
selling price and show that they are equivalent.

Show your work.

[l A store owner who bought comforters for x dollars is marking

To mark SbMefhing
vp means to increase
the prﬁice.

ok
Solution:
A i'ug is 6%feet long and w feet wide. Which expression e
How doyou find- .

does NOT represent the perimeter of the rug in feet?
Circle the correct answer.

6% ft
we) o |we
6% ft
(e 7
A 2(6§+W) C 2(6§)+w
6 7 7
B 2w—l—138 D 68+w+68+w

&} Which of the following expressions are equivalent to
; 4x — 87 Select all that apply.

A 2(2x—8)

B 2x—4)+(2x—4)

C x+x+x+x+2+2+2+2
D 4x—2)

Jesse chose A as his answer. How did he get that answer?

. fhv'e_v v;p-‘e“riz'rnefe‘r' of  ;
; arecfangle?

. Whafmakes two
" expressions
' 'equi\lalen‘l‘?

©Curriculum Associates, LLC  Copying is not permitted.




Solve.

g For each expression, select Yes or No to indicate o I
; whether the expression could be used to represent What does a discount
- a 30% discount. Let x represent the original amount. ~dototheoriginal | -

a. x—07 D Yes D No P‘ric_e?
b. 03(x—1) |___I Yes EI No
c. 07 D Yes I:I No
d. x—(0.3x) D Yes D No

[ Six bakers use a total of 12x — 3.6 pounds of flour each ' ;
hour. If each baker uses the same amount of flour, find v s '”ﬂe f“f ﬂ"af "’hey %
an expression for the number of pounds each baker U‘e the same "’”’0‘”‘*
uses in an hour. Then write an expression equivalent to - ‘
12x — 3.6 to represent the total flour used in an hour.

Show your work.

Solution:

3 Alice is paying her bill at a restaurant. The tax on the

cost of her meal is 5%. She decides to leave a tip of 20% 'Hﬁb“‘b’:&““ you Write a

of the cost of the meal plus the tax. Write an expression “percentasa
decnmal?

for her total bill if the cost of her meal is m dollars.
Write your answer in simplified form.

Show your work.

Solution: |

i 158 Lesson 15 Writing Linear Expressions ©Curriculum Associates, LLC  Copying is not permitted.




Name:

Score:

rExponentiaI Rules ]

|
# * vég

Use laws of exponents to rewrite each expression as single positive exponent:

D (=9 + (D7)

1977 x 1975
19-6

3) (8%)7° x (8%)*

8% x 872
82

5) ((—12)%)* x ((=12)")

6) (13%)7% + (133%)2

7) (179)5 x (17%)73 x 178

8) ((-17)%)*+ ((-17*)°

(=3)" x (=3)°

RO

10) (2%)°+ (2%)°

(—4y®

W xR

12) 11° x (1146 x (117)73

13) 26 x 2° x (23)7*

14) (—19)° = ((—-19)?)?

12) 94 x 9710
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